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Standard 10.M.1 Measurement

The perimeter of a rectangle is 22 meters.
The area of the rectangle is 24 square meters.
What are the length and width,

In meters, of the rectangle?

Written Description

Picture

From the four choices given to solve the
problem above Arthur selected D.

A. length = 6; width=4

B. length = 8; width=3

C. length =9; width =2

D. length = 12; width = 10
What did Arthur do to get his answer?

Explain why the chosen answer is
incorrect?

From the choices available, Deidra
selected C. On the grid above draw a
rectangle that you can use to illustrate
why the choice is incorrect.

Table

Graph

At first, Bonnie though A was the best
choice. Complete the table below she
used to check her answer.

area perimeter

| w |A=lw |[P=2(l+w)

Label the grid below to make a coordinate plane. Plot
some points to show the length and width of some
rectangles with an area of 24 square units. Plot a second
set of points that show some rectangles with a perimeter
of 22. What are the coordinates of the point found on
both of the lines connecting the two sets of points?





